In the following create partial sums from the
sequences. First make a into a function and then
create the partial sums s. Use the add function
instead of the sum function. It 1s safer. Do the
sums converge or not? Explain why.

1. Let a be the sequence 1, %, %, ....  Where the nth term is l
n
2. Let a be the sequence 1, l, l, .... Where the nth term is Lz
49 .
3. Let a be the sequence I , I .
In(2) In(3)
. Where the nth term is 1
In(n)
4. Let a be the sequence 11 , 12 , ... Where the nth term is —
e e e e
4 4 ? 4 ’
5. Let a be the sequence 88-| — |, 88| — | ,88-| — | ..
5 5 5
4 n
. where the nth term is 88- (g)
2?2 2"
6. Let a be the sequence 2, , , U——
21 31 4! n!

7. Let a be the sequence 1,-1,1,-1,1,-1 ..

n—+1
. Where the nth term is (-1)




8. Let the sequence be 1, -

>
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